

Spring Fling at the Grand Oaks 2026

Results Marathon

NR	NAME		A	T	B	1	2	3	4	5	6	7	8	1-8	TOT	CLT						
A		BEGINNER SINGLE HORSE																				
24	Dorr, Cathy	VT	0.00	0.00	0.00	0'45.20 (1)	11.30 11.30			0'45.53 (1)	11.38 11.38	1'08.93 20 (1)	17.23 37.23	0'32.53 (1)	8.13 8.13			3'12.19 68.05	68.05	1		
B		TRN SINGLE PONY																				
71	Rochon, Kerri	FL	0.00	0.00	0.00	0'32.30 (1)	8.07 8.07				0'31.47 (1)	7.87 7.87	0'24.09 (1)	6.02 6.02	0'28.36 (1)	7.09 7.09			1'56.22 29.05	29.05	1	
32	Funk, Wanda	FL	0.00	0.00	0.00	0'37.65 (3)	9.41 9.41				0'32.59 (2)	8.15 8.15	0'32.15 (3)	8.04 8.04	0'32.18 (3)	8.05 8.05			2'14.57 33.64	33.64	2	
58	Nickel, Scott	SC	0.00	0.00	0.00	0'38.89 (4)	9.72 9.72				0'42.41 (3)	10.60 10.60	0'34.30 (6)	8.57 8.57	0'32.01 (2)	8.00 8.00			2'27.61 36.90	36.90	3	
25	DuBois, Michelle	MA	0.00	0.00	0.00	0'39.37 (5)	9.84 9.84				0'43.11 (4)	10.78 10.78	0'32.86 (4)	8.22 8.22	0'34.39 (4)	8.60 8.60			2'29.73 37.43	37.43	4	
79	Stafford, Suzy	FL	0.00	0.00	0.00	0'36.38 (2)	9.10 9.10				0'44.90 (6)	11.23 11.23	0'30.70 (2)	7.68 7.68	0'42.86 (5)	10.72 10.72			2'34.84 38.71	38.71	5	
91	Wiseman, Cynthia	MO	0.00	0.00	0.00	0'47.45 (7)	11.86 11.86				0'43.64 (5)	10.91 10.91	0'33.50 (5)	8.38 8.38	1'03.00 (6)	15.75 15.75			3'07.59 46.90	46.90	6	
29	Frisbie, Sharron	FL	0.00	0.00	0.00	0'43.11 (6)	10.78 10.78				0'46.95 (7)	11.74 11.74	1'05.06 (7)	16.27 16.27	1'16.25 (7)	19.06 19.06			3'51.37 57.84	57.84	7	
D		TRN PAIR HORSE																				
34	Guillemette, Alexia	CAN	0.00	0.00	0.00	0'42.04 (1)	10.51 10.51				0'43.68 (1)	10.92 10.92	0'29.10 (1)	7.28 7.28	0'39.39 (2)	9.85 9.85			2'34.21 38.55	38.55	1	
26	Egan, Debbie	FL	0.00	0.00	0.00	0'43.40 (2)	10.85 10.85				0'46.25 (2)	11.56 11.56	0'36.41 (2)	9.10 9.10	0'37.75 (1)	9.44 9.44			2'43.81 40.95	40.95	2	
E		EXH JR. - PRE PONY																				
69	Riesse, Ben	MD	0.00	0.00	0.00	0'45.71 (1)	11.43 11.43	0'40.69 (2)	10.17 10.17	0'34.60 (1)	8.65 8.65	0'38.44 (1)	9.61 9.61	0'37.79 (1)	9.45 9.45	0'28.84 (1)	7.21 7.21			3'46.07 56.52	56.52	1
8	Batstone Roberts, Sarah	FL	0.00	0.00	0.00	0'43.97 5 (2)	10.99 15.99	0'38.15 (1)	9.54 9.54	0'36.02 (2)	9.01 9.01	0'42.04 (2)	10.51 10.51	0'38.30 (2)	9.57 9.57	0'34.54 (2)	8.64 8.64			3'53.02 63.25	63.25	2
F		PRE SINGLE PONY																				
18	Chapman, Barbara	MI	0.00	0.00	0.00	0'42.47 (1)	10.62 10.62	0'43.04 (3)	10.76 10.76	0'44.02 (5)	11.01 11.01	0'40.15 (2)	10.04 10.04	0'37.47 (2)	9.37 9.37	0'34.59 (7)	8.65 8.65			4'01.74 60.43	60.43	1
19	Cherry, Karen	FL	0.00	0.00	0.00	0'47.16 (5)	11.79 11.79	0'44.11 (5)	11.03 11.03	0'39.65 (2)	9.91 9.91	0'40.73 (3)	10.18 10.18	0'38.23 (3)	9.56 9.56	0'34.44 (6)	8.61 8.61			4'04.32 61.08	61.08	2
30	Frye, Debra	MO	0.00	0.00	0.00	0'43.39 (2)	10.85 10.85	0'41.75 (2)	10.44 10.44	0'43.03 (3)	10.76 10.76	0'51.22 (7)	12.81 12.81	0'41.21 (6)	10.30 10.30	0'26.85 (1)	6.71 6.71			4'07.45 61.86	61.86	3

Spring Fling at the Grand Oaks 2026

Results Marathon

NR	NAME		A	T	B	1		2		3		4		5		6		7	8	1-8	TOT	CLT
50	Marsh, Jeanette	IA	0.00	0.00	0.00	0'43.84 (3)	10.96 10.96	0'43.18 (4)	10.80 10.80	0'49.12 (7)	12.28 12.28	0'44.92 (4)	11.23 11.23	0'41.93 (7)	10.48 10.48	0'28.95 (3)	7.24 7.24			4'11.94 62.98	62.98	4
28	Freibert, Charles	KY	0.00	0.00	0.00	0'46.40 (4)	11.60 11.60	0'48.79 (7)	12.20 12.20	0'43.63 (4)	10.91 10.91	0'47.94 (5)	11.99 11.99	0'39.89 (4)	9.97 9.97	0'29.76 (4)	7.44 7.44			4'16.41 64.10	64.10	5
40	Huguet, Michele	SC	0.00	0.00	0.00	0'51.52 (6)	12.88 12.88	0'46.70 (6)	11.68 11.68	0'44.79 (6)	11.20 11.20	0'48.23 (6)	12.06 12.06	0'40.34 (5)	10.09 10.09	0'32.22 (5)	8.06 8.06			4'23.80 65.95	65.95	6
11	Berndl, Leslie	KY	0.00	0.00	0.00	0'29.15 20 (7)	7.29 27.29	0'36.53 (1)	9.13 9.13	0'35.71 (1)	8.93 8.93	0'39.35 (1)	9.84 9.84	0'34.15 (1)	8.54 8.54	0'27.81 (2)	6.95 6.95			3'22.70 70.67	70.67	7
G	PRE PAIR PONY																					
31	Fullgraf, Megan	NC	0.00	0.00	0.00	0'44.93 (1)	11.23 11.23	0'45.47 (3)	11.37 11.37	0'43.69 (2)	10.92 10.92	0'44.58 (2)	11.15 11.15	0'36.96 (1)	9.24 9.24	0'28.55 (1)	7.14 7.14			4'04.18 61.04	61.04	1
62	Payne, Melody	NY	0.00	0.00	0.00	0'47.19 (3)	11.80 11.80	0'44.52 (1)	11.13 11.13	0'41.75 (1)	10.44 10.44	0'43.53 (1)	10.88 10.88	0'40.38 (2)	10.10 10.10	0'30.08 (2)	7.52 7.52			4'07.45 61.86	61.86	2
70	Roberts, Tracy	FL	0.00	0.00	0.00	0'45.64 (2)	11.41 11.41	0'45.10 (2)	11.28 11.28	0'50.55 (3)	12.64 12.64	0'50.89 (3)	12.72 12.72	0'47.31 (3)	11.83 11.83	0'49.56 (3)	12.39 12.39			4'49.05 72.26	72.26	3
H	PRE SINGLE HORSE																					
36	Guinan, Susan	FL	0.00	0.00	0.00	0'44.73 (3)	11.18 11.18	0'39.51 (3)	9.88 9.88	0'40.90 (2)	10.23 10.23	0'41.84 (4)	10.46 10.46	0'39.63 (4)	9.91 9.91	0'29.49 (2)	7.37 7.37			3'56.10 59.02	59.02	1
63	Pellegrino, Gale	NH	0.00	0.00	0.00	0'49.45 (7)	12.36 12.36	0'38.17 (1)	9.54 9.54	0'39.75 (1)	9.94 9.94	0'39.43 (1)	9.86 9.86	0'37.08 (3)	9.27 9.27	0'55.85 (10)	13.96 13.96			4'19.73 64.93	64.93	2
52	Martin, Denis	CAN	0.00	0.00	0.00	0'39.52 2 (5)	9.88 11.88	0'41.43 (4)	10.36 10.36	0'42.15 (3)	10.54 10.54	0'39.55 (2)	9.89 9.89	0'34.28 (2)	8.57 8.57	0'55.13 (9)	13.78 13.78			4'12.06 65.01	65.01	3
55	Mott-Kocsis, Mary	NJ	0.00	0.00	0.00	0'46.54 (4)	11.64 11.64	0'41.77 (5)	10.44 10.44	0'44.27 (6)	11.07 11.07	0'46.56 (6)	11.64 11.64	0'48.66 (8)	12.17 12.17	0'41.34 (8)	10.34 10.34			4'29.14 67.28	67.28	4
41	Jackson, Teresa	NY	0.00	0.00	0.00	0'49.34 (6)	12.34 12.34	0'48.14 (7)	12.04 12.04	0'48.40 (7)	12.10 12.10	0'50.82 (9)	12.71 12.71	0'39.86 (5)	9.97 9.97	0'38.03 (6)	9.51 9.51			4'34.59 68.65	68.65	5
84	Thomson, Joan	CAN	0.00	0.00	0.00	0'53.17 (9)	13.29 13.29	1'02.09 (12)	15.52 15.52	0'52.59 (9)	13.15 13.15	0'49.51 (7)	12.38 12.38	0'49.48 (9)	12.37 12.37	0'39.50 (7)	9.88 9.88			5'06.34 76.58	76.58	6
1	Adcox, Scott	FL	0.00	0.00	0.00	0'39.98 (1)	9.99 9.99	0'38.37 (2)	9.59 9.59	0'47.45 20 (12)	11.86 31.86	0'43.20 (5)	10.80 10.80	0'34.18 (1)	8.55 8.55	0'26.42 (1)	6.61 6.61			3'49.60 77.40	77.40	7
17	Burcar-Annis, Amanda	MN	0.00	0.00	0.00	0'51.27 (8)	12.82 12.82	0'52.66 (8)	13.17 13.17	0'51.46 (8)	12.87 12.87	0'50.52 (8)	12.63 12.63	0'53.20 (12)	13.30 13.30	1'15.85 (11)	18.96 18.96			5'34.96 83.74	83.74	8
20	Cox, Kathie	FL	0.00	0.00	0.00	1'02.17 2 (11)	15.54 17.54	1'02.11 (13)	15.53 15.53	0'58.13 (10)	14.53 14.53	1'00.43 (12)	15.11 15.11	0'53.04 (11)	13.26 13.26	0'36.19 (4)	9.05 9.05			5'32.07 85.02	85.02	9
4	Annis, Wendy	MN	0.00	0.00	0.00	1'24.11 (12)	21.03 21.03	0'56.49 (11)	14.12 14.12	1'01.70 (11)	15.43 15.43	0'52.73 (11)	13.18 13.18	0'50.73 (10)	12.68 12.68	0'36.25 (5)	9.06 9.06			5'42.01 85.50	85.50	10

Spring Fling at the Grand Oaks 2026

Results Marathon

NR	NAME		A	T	B	1		2		3		4		5		6		7		8		1-8	TOT	CLT		
47	Levasseur, Catherine	CAN	0.00	0.00	0.00	EL		0'42.09 (6)	10.52 10.52	0'42.32 (4)	10.58 10.58	0'40.50 (3)	10.13 10.13	0'40.29 (6)	10.07 10.07	0'32.01 (3)	8.00 8.00					3'17.21 49.30	49.30	EL		
12	Berndl, Leslie	KY	0.00	0.00	15.00	0'44.47 (2)	11.12 11.12	0'53.51 (10)	13.38 13.38	0'43.86 (5)	10.97 10.97	0'50.89 (10)	12.72 12.72	0'40.98 (7)	10.25 10.25	0'38.21 EL	9.55 9.55					4'31.92 67.98	82.98	EL		
68	Richardson, Pam	CO	0.00	0.00	0.00	0'58.03 (10)	14.51 14.51	0'52.82 (9)	13.21 13.21	0'47.45 RE	11.86 11.86											2'38.30 39.57	39.57	RE		
I	PRE PAIR HORSE																									
85	Tremblay, Richard	CAN	0.00	0.00	0.00	0'44.82 (1)	11.21 11.21	0'43.60 2 (2)	12.90 12.90	0'44.49 (1)	11.12 11.12	0'42.39 (1)	10.60 10.60	0'36.42 (1)	9.11 9.11	0'34.28 (1)	8.57 8.57					4'06.00 63.50	63.50	1		
57	Nichols, Ingrid	FL	0.00	0.00	0.00	1'00.08 (2)	15.02 15.02	0'48.69 (1)	12.17 12.17	0'54.07 (2)	13.52 13.52	0'50.02 (2)	12.51 12.51	0'47.41 (2)	11.85 11.85	0'42.58 (2)	10.65 10.65					5'02.85 75.71	75.71	2		
J	INT SINGLE VSE																									
39	Hryczaniuk, Justine	VA	0.00	0.00	0.00	0'50.17 (1)	12.54 12.54	0'53.08 (1)	13.27 13.27	0'51.32 (1)	12.83 12.83	1'08.81 (1)	17.20 17.20	0'47.69 (1)	11.92 11.92	0'55.58 (1)	13.90 13.90					5'26.65 81.66	81.66	1		
K	INT SM SINGLE PONY																									
21	Crawford Mackay, Sharon	CAN	0.00	0.00	0.00	0'47.69 (1)	11.92 11.92	0'53.27 (1)	13.32 13.32	0'46.06 (1)	11.52 11.52	0'46.40 (1)	11.60 11.60	0'40.23 (1)	10.06 10.06	0'44.81 (1)	11.20 11.20					4'38.46 69.61	69.61	1		
L	INT SINGLE PONY																									
74	Schmitt, Sara	NJ	0.00	0.00	0.00	0'44.21 (2)	11.05 11.05	0'41.64 (1)	10.41 10.41	0'39.15 (1)	9.79 9.79	0'49.93 (4)	12.48 12.48	0'36.46 (1)	9.12 9.12	0'36.81 (1)	9.20 9.20					4'08.20 62.05	62.05	1		
5	Aparicio, Kate	CA	0.00	0.00	0.00	0'47.73 (3)	11.93 11.93	0'44.91 (3)	11.23 11.23	0'41.18 (3)	10.30 10.30	0'46.19 (2)	11.55 11.55	0'37.06 (2)	9.27 9.27	0'37.77 (2)	9.44 9.44					4'14.84 63.71	63.71	2		
56	Mroz-Blythe, Hilary	MA	0.00	0.00	0.00	0'41.42 (1)	10.36 10.36	0'43.06 (2)	10.77 10.77	0'45.45 (4)	11.36 11.36	0'49.89 (3)	12.47 12.47	0'40.87 (4)	10.22 10.22	0'38.24 (3)	9.56 9.56					4'18.93 64.73	64.73	3		
89	Whittington, Kristen	IN	0.00	0.00	0.00	0'52.04 (4)	13.01 13.01	0'57.44 (5)	14.36 14.36	0'53.51 (5)	13.38 13.38	1'00.88 (5)	15.22 15.22	0'48.08 (5)	12.02 12.02	0'48.27 (5)	12.07 12.07					5'20.22 80.05	80.05	4		
37	Harber, Jennifer	KY	0.00	0.00	0.00	0'46.68 EL	11.67 11.67	0'46.12 (4)	11.53 11.53	0'40.43 (2)	10.11 10.11	0'45.53 (1)	11.38 11.38	0'38.09 (3)	9.52 9.52	0'40.57 (4)	10.14 10.14					4'17.42 64.35	64.35	EL		
N	INT SINGLE HORSE																									
75	Schmitt, Sara	NJ	0.00	0.00	0.00	0'44.11 (1)	11.03 11.03	0'42.96 (1)	10.74 10.74	0'39.99 (1)	10.00 10.00	0'50.39 (3)	12.60 12.60	0'37.22 (1)	9.31 9.31	0'36.56 (1)	9.14 9.14					4'11.23 62.81	62.81	1		
95	Young, Dirk	NY	0.00	0.00	0.00	0'45.59 (2)	11.40 11.40	0'45.36 (2)	11.34 11.34	0'40.56 (2)	10.14 10.14	0'49.56 (1)	12.39 12.39	0'45.55 (6)	11.39 11.39	0'42.76 (3)	10.69 10.69					4'29.38 67.34	67.34	2		
88	White, Daphne	NC	0.00	0.00	0.00	0'53.25 (10)	13.31 13.31	0'47.95 (3)	11.99 11.99	0'47.88 (7)	11.97 11.97	0'51.93 (5)	12.98 12.98	0'41.37 (3)	10.34 10.34	0'39.72 (2)	9.93 9.93					4'42.10 70.52	70.52	3		

Spring Fling at the Grand Oaks 2026

Results Marathon

NR	NAME		A	T	B	1		2		3		4		5		6		7		8		1-8	TOT	CLT		
48	Mann, Pat	RI	0.00	0.00	0.00	0'50.32 (7)	12.58 12.58	0'50.22 (5)	12.56 12.56	0'47.22 (5)	11.81 11.81	0'51.76 (4)	12.94 12.94	0'41.68 (4)	10.42 10.42	0'43.93 (4)	10.98 10.98					4'45.13 71.28	71.28	4		
90	Wiedenhuess, Ingo	CO	0.00	0.00	0.00	0'49.00 (6)	12.25 12.25	0'53.44 (8)	13.36 13.36	0'47.94 (8)	11.99 11.99	0'49.77 (2)	12.44 12.44	0'40.72 (2)	10.18 10.18	0'44.70 (6)	11.18 11.18					4'45.57 71.39	71.39	5		
53	Mazar, Dan	FL	0.00	0.00	0.00	0'46.56 (3)	11.64 11.64	0'51.27 (6)	12.82 12.82	0'44.19 (3)	11.05 11.05	0'58.21 (9)	14.55 14.55	0'43.73 (5)	10.93 10.93	0'47.73 (7)	11.93 11.93					4'51.69 72.92	72.92	6		
77	Shenker, Margaret	PA	0.00	0.00	0.00	0'48.97 (5)	12.24 12.24	0'49.66 (4)	12.42 12.42	0'47.65 (6)	11.91 11.91	0'53.97 (6)	13.49 13.49	0'47.73 (10)	11.93 11.93	0'53.97 (10)	13.49 13.49					5'01.95 75.49	75.49	7		
67	Pratt-Rivers, Cheryl	VT	0.00	0.00	0.00	0'46.68 (4)	11.67 11.67	0'52.12 (7)	13.03 13.03	0'44.87 (4)	11.22 11.22	0'54.67 (7)	13.67 13.67	0'46.03 (9)	11.51 11.51	0'57.83 (11)	14.46 14.46					5'02.20 75.55	75.55	8		
76	Sellars, Lynn	FL	0.00	0.00	2.50	0'53.64 (11)	13.41 13.41	0'56.04 (10)	14.01 14.01	0'48.86 (9)	12.22 12.22	0'59.03 (10)	14.76 14.76	0'50.16 (12)	12.54 12.54	0'44.45 (5)	11.11 11.11					5'12.18 78.04	80.54	9		
45	Kurz, Madeline	MD	0.00	0.00	0.00	0'53.67 (12)	13.42 13.42	0'54.81 (9)	13.70 13.70	0'54.46 (12)	13.62 13.62	0'55.49 (8)	13.87 13.87	0'45.99 (8)	11.50 11.50	1'01.53 (12)	15.38 15.38					5'25.95 81.49	81.49	10		
22	Cullinane, Cindy	NJ	0.00	0.00	2.25	0'52.71 (9)	13.18 13.18	0'56.53 (12)	14.13 14.13	0'53.00 (10)	13.25 13.25	1'10.32 (13)	17.58 17.58	0'45.78 (7)	11.45 11.45	0'48.80 (8)	12.20 12.20					5'27.14 81.78	84.03	11		
43	Johnson, Suzann	NJ	0.00	0.00	0.00	0'59.29 (13)	14.82 14.82	0'56.35 (11)	14.09 14.09	1'00.52 (13)	15.13 15.13	1'00.29 (11)	15.07 15.07	0'49.40 (11)	12.35 12.35	0'50.89 (9)	12.72 12.72					5'36.74 84.18	84.18	12		
33	Giles, Bob	FL	0.00	0.00	0.00	0'51.75 (8)	12.94 12.94	0'59.60 (13)	14.90 14.90	0'53.63 (11)	13.41 13.41	1'04.96 (12)	16.24 16.24	1'04.32 (13)	16.08 16.08	1'10.89 2 (13)	19.72 19.72					6'05.15 93.29	93.29	13		
O	INT PAIR HORSE																									
46	Lester, Taren	FL	0.00	0.00	0.00	0'52.03 (1)	13.01 13.01	0'54.13 (1)	13.53 13.53	0'56.64 (1)	14.16 14.16	0'53.95 (1)	13.49 13.49	0'45.89 (1)	11.47 11.47	0'45.41 (1)	11.35 11.35					5'08.05 77.01	77.01	1		
14	Billing, Darryl	CAN	0.00	0.00	0.00	1'03.35 (2)	15.84 15.84	1'13.63 (2)	18.41 18.41	1'05.43 (2)	16.36 16.36	1'14.60 (2)	18.65 18.65	0'54.45 (2)	13.61 13.61	0'57.58 (2)	14.40 14.40					6'29.04 97.26	97.26	2		
R	NOV ADV SINGLE PONY																									
87	Wallis, Lorri	AR	0.00	0.00	0.00	0'57.00 (1)	14.25 14.25	1'05.46 (1)	16.36 16.36	1'06.69 (1)	16.67 16.67	1'05.60 (1)	16.40 16.40	1'01.60 (1)	15.40 15.40	1'02.41 (1)	15.60 15.60					6'18.76 94.69	94.69	1		
S	FEI 2* SINGLE PONY																									
92	Wiseman, Cynthia	MO	0.00	0.00	0.00	0'55.19 (1)	13.80 13.80	0'57.86 (1)	14.47 14.47	0'54.17 (1)	13.54 13.54	0'55.30 (1)	13.83 13.83	0'52.08 (1)	13.02 13.02	0'53.30 (1)	13.33 13.33					5'27.90 81.97	81.97	1		
T	FEI 2* SINGLE HORSE																									
61	Palloni, Timothy	VA	0.00	0.00	0.00	0'59.25 (1)	14.81 14.81	1'02.97 (1)	15.74 15.74	1'01.26 (1)	15.32 15.32	0'58.02 (1)	14.51 14.51	0'56.51 (1)	14.13 14.13	0'59.53 (1)	14.88 14.88					5'57.54 89.38	89.38	1		
U	FEI 2* PAIR PONY																									

Spring Fling at the Grand Oaks 2026

Results Marathon

NR	NAME		A	T	B	1	2	3	4	5	6	7	8	1-8	TOT	CLT								
59	Odden, Phillip	WI	0.00	0.00	0.00	1'05.42 (1)	16.36 16.36	1'08.58 (1)	17.15 17.15	1'10.96 (1)	17.74 17.74	1'16.93 (1)	19.23 19.23	1'03.28 (1)	15.82 15.82	0'55.70 (1)	13.93 13.93					6'40.87 100.22	100.22	1
V	FEI 3* SINGLE PONY																							
78	Snedden, Brandy	OH	0.00	0.00	0.00	0'51.78 (3)	12.95 12.95	0'49.38 (1)	12.35 12.35	0'50.85 (1)	12.71 12.71	0'54.27 (3)	13.57 13.57	0'48.21 (1)	12.05 12.05	0'47.48 (2)	11.87 11.87	0'56.99 (2)	14.25 14.25			5'58.96 89.74	89.74	1
44	Klinger, Denice	SC	0.00	0.00	0.00	0'49.83 (2)	12.46 12.46	0'53.73 (2)	13.43 13.43	1'01.21 (3)	15.30 15.30	0'50.71 (1)	12.68 12.68	0'50.14 (3)	12.54 12.54	0'50.22 (3)	12.56 12.56	0'52.91 (1)	13.23 13.23			6'08.75 92.19	92.19	2
27	England, Tina	CAN	0.00	0.00	0.00	0'48.13 (1)	12.03 12.03	1'00.65 (3)	15.16 15.16	0'51.67 (2)	12.92 12.92	0'50.86 (2)	12.72 12.72	0'48.32 (2)	12.08 12.08	0'46.51 (1)	11.63 11.63	1'16.24 (3)	19.06 19.06			6'22.38 95.59	95.59	3
W	FEI 3* SINGLE HORSE																							
38	Holzinger, Marcus	MI	0.00	0.00	0.00	0'45.46 (1)	11.37 11.37	0'44.82 (1)	11.21 11.21	0'46.16 (1)	11.54 11.54	0'45.65 (2)	11.41 11.41	0'42.10 (1)	10.53 10.53	0'42.94 (2)	10.74 10.74	0'46.50 (3)	11.63 11.63			5'13.63 80.41	80.41	1
51	Marshall, Janelle	SC	0.00	0.00	0.00	0'47.44 (4)	11.86 11.86	0'48.23 (4)	12.06 12.06	0'47.84 (4)	11.96 11.96	0'52.07 (6)	13.02 13.02	0'44.71 (2)	11.18 11.18	0'40.29 (1)	10.07 10.07	0'45.97 (1)	11.49 11.49			5'26.55 81.64	81.64	2
6	Arnold, Jacob	KY	0.00	0.00	0.00	0'46.84 (2)	11.71 11.71	0'48.04 (3)	12.01 12.01	0'47.32 (2)	11.83 11.83	0'46.32 (3)	11.58 11.58	0'47.30 (3)	11.83 11.83	0'46.22 (4)	11.56 11.56	0'52.47 (6)	13.12 13.12			5'34.51 83.63	83.63	3
49	Marcoux, Andy	MA	0.00	0.00	0.00	0'45.91 2 (6)	11.48 13.48	0'48.99 (6)	12.25 12.25	0'47.39 (3)	11.85 11.85	0'44.72 (1)	11.18 11.18	0'47.88 (4)	11.97 11.97	0'43.45 (3)	10.86 10.86	0'48.45 (4)	12.11 12.11			5'26.79 83.70	83.70	4
80	Stafford, Suzy	FL	0.00	0.00	0.00	0'47.29 (3)	11.82 11.82	0'50.84 (7)	12.71 12.71	0'49.85 (5)	12.46 12.46	0'47.90 (4)	11.98 11.98	0'53.59 (10)	13.40 13.40	0'49.18 (7)	12.30 12.30	0'56.82 (9)	14.21 14.21			5'55.47 88.87	88.87	5
94	Yeager, Marianna	FL	0.00	0.00	0.00	0'52.34 (5)	13.09 13.09	0'55.03 (8)	13.76 13.76	0'58.53 (8)	14.63 14.63	0'56.74 (8)	14.19 14.19	0'49.86 (6)	12.47 12.47	0'46.25 (6)	11.56 11.56	0'51.87 (5)	12.97 12.97			6'10.62 92.65	92.65	6
15	Bliss, Paula	VA	0.00	0.00	0.00	0'48.02 2 (8)	12.01 14.01	0'48.82 (5)	12.21 12.21	0'52.29 (6)	13.07 13.07	1'14.31 (10)	18.58 18.58	0'51.86 (7)	12.97 12.97	0'46.24 (5)	11.56 11.56	0'53.26 (7)	13.32 13.32			6'14.80 95.70	95.70	7
35	Guillemette, Alexia	CAN	0.00	0.00	0.00	0'54.98 (7)	13.75 13.75	1'01.34 (11)	15.34 15.34	1'02.82 (10)	15.71 15.71	0'56.40 (7)	14.10 14.10	0'51.90 (8)	12.98 12.98	0'53.46 (11)	13.37 13.37	0'59.24 (11)	14.81 14.81			6'40.14 100.03	100.03	8
42	Johnson, Michele	NY	0.00	0.00	0.00	0'56.57 (9)	14.14 14.14	0'56.57 (10)	14.14 14.14	1'01.07 (9)	15.27 15.27	1'19.50 (11)	19.88 19.88	0'51.94 (9)	12.99 12.99	0'50.23 (8)	12.56 12.56	0'59.12 (10)	14.78 14.78			6'55.00 103.75	103.75	9
82	Stroud, Allison	PA	0.00	0.00	0.00	1'26.59 (11)	21.65 21.65	0'56.56 (9)	14.14 14.14	0'56.02 (7)	14.01 14.01	0'57.91 (9)	14.48 14.48	0'55.60 (11)	13.90 13.90	0'51.32 (10)	12.83 12.83	0'55.05 (8)	13.76 13.76			6'59.05 104.76	104.76	10
16	Bradish, Taylor	SC	0.00	0.00	0.00	0'50.99 5 (10)	12.75 17.75	0'46.06 (2)	11.52 11.52	1'01.22 20 (11)	15.31 35.31	0'51.11 (5)	12.78 12.78	0'49.45 (5)	12.36 12.36	0'42.03 (2)	10.51 10.51	0'46.01 (2)	11.50 11.50			5'46.87 111.72	111.72	11
X	FEI 3* PAIR HORSE																							
7	Arnold, Jacob	KY	0.00	0.00	0.00	0'49.49 (1)	12.37 12.37	0'49.68 (1)	12.42 12.42	0'52.49 (1)	13.12 13.12	0'48.41 (1)	12.10 12.10	0'48.02 (1)	12.01 12.01	0'45.76 (1)	11.44 11.44	0'48.96 (1)	12.24 12.24			5'42.81 85.70	85.70	1
Y	FEI 3* HORSE TEAM																							

Spring Fling at the Grand Oaks 2026

Results Marathon

NR	NAME		A	T	B	1		2		3		4		5		6		7		8		1-8	TOT	CLT
60	Ouellet, Tommy	CAN	0.00	0.00	7.50	1'10.63 4 (1)	17.66 21.66	1'19.26 (1)	19.82 19.82	1'16.85 (1)	19.21 19.21	1'30.66 (2)	22.67 22.67	1'11.76 (2)	17.94 17.94	2'19.12 (2)	34.78 34.78	1'07.97 (2)	16.99 16.99			9'56.25 153.06	160.56	1
81	Steenbeek, Gerben	CAN	0.00	0.00	26.00	1'27.57 (2)	21.89 21.89	1'22.76 (2)	20.69 20.69	0'47.84 12 (2)	11.96 23.96	1'29.85 (1)	22.46 22.46	1'06.71 (1)	16.68 16.68	1'06.65 (1)	16.66 16.66	1'03.86 (1)	15.97 15.97			8'25.24 138.31	164.31	2

©Driving Program by Philippe Liénart (BEL) - driving@horsedriving.be Scorer : EllenMarie Ettenger

OFFICIAL RESULTS 18:33

Signature President of the Jury